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Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.
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The question paper comprises five sections, A, B, C, D and E. You
are to attempt all the sections.

All questions are compulsory.

Internal choice is given in sections B, C, D and E.

Question numbers 1 and 2 in Section-A are one mark questions.
They are to be answered in one word or in one sentence.

Question numbers 3 to 5 in Section B are two-marks questions.
These are to be answered in about 30 words each.

Question numbers 6 to 15 in Section C are three-marks questions.
These are to be answered in about 50 words each.

Question numbers 16 to 21 in Section D are five-marks questions.
These are to be answered in about 70 words each. (8

Question numbers 22 to 27 in Section E are based on practical
Each question is a two marks question. These are to be ansy
brief.
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SECTION-A
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What is the function of a galvanometer in a circuit ?
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Why is biogas considered an excellent fuel ?
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How it can be proved that the basic structure of the Modern
Periodic Table is based on the electronic configuration of atoms of
different elements ?

OR
The electronic configuration of an element is 2, 8, 4. State its :
(a) group and period in the Modern Periodic Table.

(b) name and write its one physical property.

4. Syl YaH FE % AU AE IR § 89 9 o o 3uwEd (fague)
% 21 fafim en fofaw) v § a9 9 3are e 2

Write two different ways in which glucose is oxidized to provide
energy in human body. Write the products formed in each case.
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Define the term power of accommodation. Write the modification
in the curvature of the eye lens which enables us to see the nearby
objects clearly ?
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2 g of silver chloride is taken in a china dish and the china dish is
placed in sunlight for sometime. What will be your observation in
this case ? Write the chemical reaction involved in the form of a
balanced chemical equation. Identify the type of chemical reaction.

OR

Identify the type of reactions taking place in each of the following
cases and write the balanced chemical equation for the reactions.

(a) Zinc reacts with silver nitrate to produce zinc nitrate and
silver.

(b) Potassium iodide reacts with lead nitrate to produce potassium
nitrate and lead iodide.
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Identify the acid and the base from which sodium chloride 1s
obtained. Which type of salt is it? When is it called rock salt? How
is rock salt formed?
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Based on the group valency of elements write the molecular
formula of the following compounds giving justification for each :
(i) Oxide of first group elements.

(ii) Halide of the elements of group thirteen, and

(iii) Compound formed when an element, A of group 2 combines
with an element, B of group seventeen.
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Write three types of blood vessels. Give one important feature of
each.
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Trace the sequence of events which occur when a bright light is
focused on your eyes.
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